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A = iEE *xEEHh—F =35 Hess
4 6 + [CEyREE) - N 10:00 K=K
4 6 + NP - RE R 12:00 K=K
4 7 = K=K - RE R 10:00 K=K
4 7 = NP - SAFNRERA 12:00 K=K
4 7 = P PIESES - KEHE 10:00 KBS
4 7 =] Ry - noskE 12:00 =i
4 13 + SAFIEZE - noskE 10:00 EMEE
4 13 + KE & - SHFNEERR 12:00 SHFNEZE
4 14 H KEFK - noskE 10:00 nosEkE
4 14 = NP - KEHE 12:00 nosEkE
5 12 = KEFK - SAFIEZE 10:00 K=K
5 12 = I8 ST S AN - SAFNRERA 12:00 K=K
5 26 = KE & - XE R 10:00 RKERBE
5 26 = NP - K=K 12:00 RKERBE
6 2 = KERRK - K= HBE 10:00 =i
6 2 =] I8 ST S AN - K= 12:00 =i
6 16 =] I8 ST S AN - K= HE 10:00 =i
6 16 = SAFNRERA - nosEkE 12:00 KESE
7 13 + KERBE - nosEkE 10:00 KERBEF
7 13 + K=& - SAFNRERA 12:00 RKERBEF
7 15 A K=K - SEFNREEA 10:00 K=K
7 15 A pN=F[ - nosEkE 12:00 K=K
7 15 A SAFIEZE - XE R 10:00 SHFNEZE
7 15 A B 3ER - REHE 12:00 SHFNEZE
7 21 H KEFRK - nosEkE 10:00 K=K
7 21 = SAFIEZE - SEFNREEA 12:00 K=K
7 31 7K I8 57 A FN - HMEE 10:00 EMEE
7 31 7k XEHRBEH - SEFIRERR 12:00 EMEE
8 11 = NP - K=K 10:00 K=K
8 11 H I8 37 AN - SEFEERA 12:00 A=K
8 29 N =V p I - EMEE 10:00 EMEE
8 29 N A=t - RESE 12:00 SHFNEZE
8 31 + EFEZE - nosEkE 10:00 EMEE
8 31 + I8 37 AN - RXERBE 12:00 SHFNEZE
9 8 H K=K - RESE 10:00 RESE
9 8 = AXE R - nosEkE 12:00 RESE
9 16 A KEFARK - AXERBEE 10:00 KXEFRK
9 16 A A=t - SEFEERA 12:00 A=K
9 16 A EFEZE - RESE 10:00 REIE
9 16 A I8 37 AN - nosEkE 12:00 RESE
9 21 + I8 37 AN - A=K 10:00 A=K
9 21 + A=t - SHFEZE 12:00 A=K
9 21 + KEHIE - nosEkE 10:00 REShE
9 21 + XE R - SEFIRERA 12:00 KEAEE
9 23 A =RV E | - NP 13:00 B AER
9 23 )= SAFNREA - nmo&EE 15:00 B 3TEH
11 3 = XEd - nmo&EE 10:00 nmo&EeE
11 3 = AfNEZX - KEREEF 12:00 no&EkE
11 9 * B STER - KEREEF 13:00 RKEREF
11 9 * KE Sz - nmo&EkE 15:00 RKEREF
11 10 H KEBFRK - SEFIRERA 10:00 A=K
11 10 H A=t - SHFNEZE 12:00 A=K
11 14 PN X=X - EMEZE 10:00 EMEZE
11 14 PN K= IhE - RXEHRBE 12:00 EMEZE
11 17 H NP - KEREEF 10:00 RKEREF
11 17 = JANEXE - SAFIREER 12:00 K= REEF




